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(@) M tj y Multiplicera decimaler med 10,100,1000
namn: Datum: Poing:

3,565 x 1000 = 3,751 x 10 =

10,438 x 10 = 2,522 x 1000 =

10, 638 x 100 = 10, 684 x 100 =

8,628 x 10 = 5,403 x 1000 =

7,399 x 1000 = 8,278 x 1000 =

10,904 x 1000 = 7,604 x 1000 =

8,912 x 10 = 5,02 x 100 =

7,084 x 1000 = 8,8 x 1000 =

8,731 x 1000 = 6,926 x 1000 =

3,603 x 100 = 10,507 x 10 =
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| . % % Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:

3,565 x 1000 = 3565 3,751 x 10 =37.51

10,438 x 10 = 104.38 2,522 x 1000 = 2522

10, 638 x 100 = 1063.8 10, 684 x 100 = 1068.4

8,628 x 10 = 86.28 5,403 x 1000 = 5403

7,399 x 1000 = 7399 8,278 x 1000 = 8278

10,904 x 1000 = 10904 7,604 x 1000 = 7604

8,912 x 10 = 89.12 5,02 x 100 = 502

7,084 x 1000 = 7084 8, 8 x 1000 = 8800

8,731 x 1000 = 8731 6,926 x 1000 = 6926

3,603 x 100 = 360.3 10, 507 x 10 = 105.07
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